|

+ 4= T +
=] i # &7 ’
< =D D | e S
¥ e I~ ¥ .Y
Z | i / L ] n | |
L | | L -l
- = -
HRLD K | QUE| @R Bmh AR BNEE| ME IR
FRS8 ger0— k| JAND—R 2g .« Y12 BE  X— LAl L 0 d K | ko | #5 | wa |&z@weE| Tyoe
FHih . 6H 1BJIS2#k mm mm mm mm mm
T-TIN-SP-M3X05 | 255-8516 | 4550414175666| TRUSCO TINZ/SASIL&wT M3BXO5 1 46 | 18 4 32 6 3 | 25w | fine| A
T-TIN-SP-M4X0.7 255-8518 | 4550414175673 TRUSCO TINZ/SASILAvYT  M4AXOT 1 52 13 5 4 7 3 25W TTNSEEE B
T-TIN-SP-MBX08 | 255-8517 | 4550414175680| TRUSCO TINZ/SASIL&wT MSXOS 1 60 | 16 | 55 | 45 7 3 | 25w |ins| B
T-TIN-SP-MEX10 | 255-8521 | 4550414175697| TRUSCO TINZ/SASIL&wT MEX10 1 62 | 19 6 45 7 3 | 25w |ins| B
T-TIN-SP-M8X1 .25 255-8520 | 4550414175703 TRUSCO TINZ/SASI)ILAvT  M8X1.25 1 70 22 6.2 5 8 3 25W TTNSEEE D
T-TIN-SP-M10X15 | 2556-8519 | 4550414175710 TRUSCO TINZ/SASILEvT MIOX15 1 75 | 24 7 55 8 3 | 25w |me| ©
T-TIN-SP-M12X175 | 255-8515 | 4550414175727| TRUSCO TIN Z/S1S)L8wT M12X1.75 1 g2 | 20 | 85 | 65 9 3 | 25w |ime| ©
kB & R BB

2021/7/6

S XIPUKRIASH

TN =T« 2T 24358y T

T-TIN-SP YU —X




